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~ Note: i) Answer all the questions.

a) Dadabai Naoroji et - i w0 b) Justice Govmd Ranade
~ ¢) Bipin Chandra-pal = d) Ramesh Chandra :
o S founded Adi dra\nda MahaJana Sabhain1893. :
_a) Rettaimalai Srinivasan b) B.R. Ambedkar c) Ra_]a]l .~ .d)M.C. Rajah
The higheést peak in South Indla iss: . .7, : b i
. a) Ooty - b) Kodaikanal = c) Ana1mud1 i 'd)Jin'dhagadu
. The monsoon forest are otherwise called a8 i..rivisrsiinpiin s 1 :
-a) Tropical Evergreen fore_st_ vt b) Demduous forest
c) Mangrove forest Ny e . d) Mountain forest
i YeFmnana ....damis the hlghest grawty dam in India."
a) leakud dam - .. b) Bhakra Nangal dam
 ¢) Metturdam . - e ".d) Nagarjuna Sagardam
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ii) Choose the most appropriate answer.

choose the best answer. et 14 ){. 1 =14 _.

Who initiated the formation of Ieague of Natlons?

.a) Roosevelt b)ChamberIaln S=a'e) WoodrowW[Ison d) Ba!dwln

Assertion (A) : America’s Marshal plan war for reconstructlon of the

. war - ravaged Europe.

" Reason (R).: The US concelved the Marshal plan to brmg the countnes in
~-the Western Europe under its influence.” "~ .

a) Both (A) and (R) are. wrong . - :

b) Both (A) and (R) are correct, but R is not the correct exp!anatlon ofA
c) Both (A) and (R). are. correct and Ris the correct exp]anatlon ofA '
d) (A) is wrong and (R) is correct .+ G v

Who was the Commander - in- Chlef respons1ble for the new mmtary regulatlon
in Vellore fort? - -

& .'a) Col - Fancourt  b) ME!JOI" Armstrong c) SlrJohn cradock d) ColoneI Agnew

Find out the Mlhtant natlonallst from the following

The nucleus-for.the development of the Chotanagpur Plateau region is

a) Transport  b) Mineral dep05|ts c) Large demand- d) Power Avaltablhty
The district with Iargest Mangrove forest cover in Tamilnadu is
a) Ramanathapuram b) Nagapattinam c) Cuddalore , d) Theni

heart and soul of the constltutlon?

" ‘'a) Right to freedog:n of religion ~ b) Right to equality

c) Right to constitutional remedies - d) nght to property

‘The Governor does not appoint o S
‘a) Chief Minister  b) Chairman of. the State Publlc Servlce Commission 5

K . c) Advocate General _of the state.- d) Judges of the High Court '
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- Which-one of the following rights was descrlbed by Dr. B R. Ambedkar as. the'
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. +1)Vaigairiver ~ 2) Dodabetta - - 3) Limestone area ‘4) Mountain forest .
- 5) Millets productlon area. 6) Mettur dam 7) Saline  Soil 8) Pearls Industry.

Indian Economy is  a) Developing Econ"om'y

- Give the importance of IST.
‘Name the typés of soil found in India.

- Why is Coimbatore called the *Manchester ofTamllnadu”?

- What are minerals and state its types :
“What is Writ? - -

b)'Er'nerQi'hQ ECOF’.de-
" ¢) Dual Economy d) All. the above e

: The Detrmt of Asia i) cuine Sohn o . _
" . a).Tuticorin b) Cormbatore A c) Chennan . d) Madural

" Note: Answer any 10 questlons No. 28 is compulsory 10 X 2 20 :
- How did great depression impact on the Indian Agrlculture'? o S

" Write a note on reforms of Ramalinga Adigal. .
“Highlight the essence of the Tiruchirapalli ProcIamatton of 1801

Describe the Jalian Walla Bagh Masacre.

List out the member.countries of. SAARC

“Write some hame of the nutrition programmes in Tamlinadu

What do .you know about Kaladan Multl model Transnt transport

-What.is progressive-tax? - -
-Define : Disaster Risk reduction

‘Note : Answer any 10 questlons No. 42 is compulsory 10X 5 =50
: -Attempt a narrative account of how the process of decolontzatton happened

inIndia durmg the inter war period 1919- 39 s .
Analyse the effects of the World War - II.. '

‘_Examme the factors that Ied to the transformatron of Gandhf into a mass-

leaden
Destribe the role of Tamllnadu in the civil d[sobedtence movement

Explain the divisions of Northern mountains and its importance to Indra
Differentiate between:  a) i) Weather and Climate. .

i) Renewable reséurces and non - renewable resources, ©- -

b) Give reason : Agrlculture is the backbone of India.

Describe the major challenges of Indian Industries:

Write about the plantation forming of Tamilnadu. . :
Mention the dlfferences between fundamental rlghts and dlrectlve prmcnples

- of State ‘policy. —
‘~Make any two’ basic concepts fo!lowed by Indta to mamtaln fnendly relatrons

~with its neighbours.

Explain Minimum support price -'-'_' e U I
Explain some direct and'in direct taxes!~ "~ = 3 R
Draw a time line for any 5 events:from 1920 - 1940

On the given India map mark the followmg places.

1) Gwalior . 2) Lucknow _3) Kheda 4) Madras 5) Barrackpore

Note : Answer the followmg questlons. n . 2X8=16

a) Estimate Periyar E.V.R's decisive ¢ontribution to the social transformation
44 . of Tamilnadu. (OR). b) Account for the outbreak of Vellora revolt i in 1806.
© 1) Mt-K2  2) Gulf of Mannar: 3) Deccan plateau

~4) South west monsoon direction 5) Shad\e the regions of Jute cultwataon

a) Mark the following places on the given outline map of India.

6) Mumbai , 7) State of Highest literacy in India 8) Coal mining centre. -
(OR) b) Mark the following places on the given outline map of Tamilnadu,
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